## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

| Transferee (Transferred to:)               | Transferor<br>(Transferred from:)          | Type of<br>Transfer                | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Date<br>Accepted by<br>Watermaster |
|--|--|------------------------------------|--------------------------------------|------------------------|---------------------------|---------|------------------------------------|
| Adelanto, City Of                          | Bass Trust, Newton T.                      | TempCarryover in Lieu of Replaceme | nt 278                               | \$509.00               | \$141,502.00              | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Beinschroth Family Trust                   | TempCarryover in Lieu of Replaceme | nt 79                                | \$509.00               | \$40,211.00               | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Beinschroth, Andy Eric                     | TempCarryover in Lieu of Replaceme | nt 136                               | \$509.00               | \$69,224.00               | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Box, Geary S. and Laura                    | TempCarryover in Lieu of Replaceme | nt 10                                | \$509.00               | \$5,090.00                | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Brown, Jennifer                            | TempCarryover in Lieu of Replaceme | nt 21                                | \$509.00               | \$10,689.00               | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Bryant, Ian                                | TempCarryover in Lieu of Replaceme | nt 16                                | \$509.00               | \$8,144.00                | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | DLW Revocable Trust                        | TempCarryover in Lieu of Replaceme | nt 39                                | \$509.00               | \$19,851.00               | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Fisher Trust, Jerome R.                    | TempCarryover in Lieu of Replaceme | nt 345                               | \$509.00               | \$175,605.00              | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Kemper Campbell Ranch                      | TempCarryover in Lieu of Replaceme | nt 206                               | \$509.00               | \$104,854.00              | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Lake Arrowhead Community Services District | TempCarryover in Lieu of Replaceme | nt 358                               | \$509.00               | \$182,222.00              | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Low, Dean                                  | TempCarryover in Lieu of Replaceme | nt 109                               | \$509.00               | \$55,481.00               | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Nunn Family Trust                          | TempCarryover in Lieu of Replaceme | nt 19                                | \$509.00               | \$9,671.00                | Alto    | 5/22/2024                          |
| Adelanto, City Of                          | Ward, Barbara                              | TempCarryover in Lieu of Replaceme | nt 24                                | \$509.00               | \$12,216.00               | Alto    | 5/22/2024                          |
| Agcon, Inc.                                | Hi-Grade Materials Company                 | TempCarryover in Lieu of Replaceme | nt 25                                | \$515.00               | \$12,875.00               | Alto    | 5/22/2024                          |
| Apple Valley Heights County Water District | Storm, Randall                             | TempCarryover in Lieu of Replaceme | nt 34                                | \$509.00               | \$17,306.00               | Alto    | 5/22/2024                          |
| Apple Valley View Mutual Water Company     | Lawson, Ernest and Barbara                 | TempCarryover in Lieu of Replaceme | nt 2                                 | \$509.00               | \$1,018.00                | Alto    | 5/22/2024                          |
| Golden State Water Company                 | American States Water Company              | TempCarryover in Lieu of Replaceme | nt 395                               | \$472.00               | \$186,440.00              | Alto    | 5/22/2024                          |
| Hesperia Water District                    | Halanna Equities III                       | TempCarryover in Lieu of Replaceme | nt 7                                 | \$503.00               | \$3,521.00                | Alto    | 5/22/2024                          |
| Hesperia Water District                    | Hamilton Family Trust                      | TempCarryover in Lieu of Replaceme | nt 40                                | \$503.00               | \$20,120.00               | Alto    | 5/22/2024                          |
| Hesperia Water District                    | Hesperia - Golf Course, City of            | TempCarryover in Lieu of Replaceme | nt 81                                | \$508.50               | \$41,188.50               | Alto    | 5/22/2024                          |
| Hesperia Water District                    | Hesperia, City of                          | TempCarryover in Lieu of Replaceme | nt 3,545                             | \$508.50               | \$1,863,652.50            | Alto    | 5/22/2024                          |
| Hesperia Water District                    | Holy Heavenly Lake, LLC                    | TempCarryover in Lieu of Replaceme | nt 4                                 | \$503.00               | \$2,012.00                | Alto    | 5/22/2024                          |

March 19, 2025 Page 1 of 9

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

Amount of

Date

| Transferee<br>(Transferred to:)        | Transferor (Transferred from:)                    | Type of<br>Transfer                | Transfer (Acre-feet | Price per | Total Cost of<br>Transfer | Subarea | Accepted by<br>Watermaster |
|--|---|------------------------------------|---------------------|-----------|---------------------------|---------|----------------------------|
| Hesperia Water District                | Johnston, Harriet and Johnston, Lawrence W.       | TempCarryover in Lieu of Replaceme | ent 28              | \$503.00  | \$14,084.00               | Alto    | 5/22/2024                  |
| Hesperia Water District                | Langley, James                                    | TempCarryover FPA                  | 438                 | \$520.00  | \$227,760.00              | Alto    | 5/22/2024                  |
| Hesperia Water District                | Langley, James - Industrial                       | TempCarryover FPA                  | 632                 | \$520.00  | \$328,640.00              | Alto    | 5/22/2024                  |
| Hesperia Water District                | LHC Alligator, LLC                                | TempCarryover in Lieu of Replaceme | ent 271             | \$503.00  | \$136,313.00              | Alto    | 5/22/2024                  |
| Hesperia Water District                | McKinney, Paula                                   | Carryover - Included with BAP      | 6                   |           |                           | Alto    | 5/22/2024                  |
| Hesperia Water District                | Summit Valley Ranch, LLC                          | TempCarryover in Lieu of Replaceme | ent 13              | \$503.00  | \$6,539.00                | Alto    | 5/22/2024                  |
| Hesperia Water District                | Vogler, Albert H.                                 | TempCarryover in Lieu of Replaceme | ent 34              | \$503.00  | \$17,102.00               | Alto    | 5/22/2024                  |
| Jamboree Housing Corporation           | Ades, John and Devon                              | TempCarryover in Lieu of Replaceme | ent 19              | \$509.00  | \$9,671.00                | Alto    | 5/22/2024                  |
| Jamboree Housing Corporation           | Finch, Jenifer                                    | TempCarryover in Lieu of Replaceme | ent 17              | \$509.00  | \$8,653.00                | Alto    | 5/22/2024                  |
| Jess Ranch Water Company               | Liberty Utilities (Apple Valley Ranchos Water) Co | TempFPA                            | 273                 | \$0.00    | \$0.00                    | Alto    | 5/22/2024                  |
| Johnson, Paul - Industrial             | CalMat Company                                    | TempCarryover FPA                  | 10                  | \$420.00  | \$4,200.00                | Alto    | 5/22/2024                  |
| Langley, James                         | CalPortland Company - Agriculture                 | TempCarryover FPA                  | 350                 | \$505.00  | \$176,750.00              | Alto    | 5/22/2024                  |
| Langley, James                         | Johnston, Harriet and Johnston, Lawrence W.       | TempCarryover FPA                  | 19                  | \$500.00  | \$9,500.00                | Alto    | 5/22/2024                  |
| Langley, James                         | Johnston, Harriet and Johnston, Lawrence W.       | TempCarryover FPA                  | 18                  | \$500.00  | \$9,000.00                | Alto    | 5/22/2024                  |
| Langley, James                         | Scray, Michelle A. Trust                          | TempCarryover FPA                  | 8                   | \$500.00  | \$4,000.00                | Alto    | 5/22/2024                  |
| Langley, James                         | West, Howard and Suzy                             | TempCarryover FPA                  | 40                  | \$505.00  | \$20,200.00               | Alto    | 5/22/2024                  |
| Langley, James - Industrial            | CalPortland Company - Oro Grande Plant            | TempCarryover FPA                  | 601                 | \$505.00  | \$303,505.00              | Alto    | 5/22/2024                  |
| Langley, James - Industrial            | Hi-Grade Materials Company                        | TempCarryover FPA                  | 31                  | \$515.00  | \$15,965.00               | Alto    | 5/22/2024                  |
| Mariana Ranchos County Water District  | Beinschroth Family Trust                          | TempCarryover in Lieu of Replaceme | ent 33              | \$509.00  | \$16,797.00               | Alto    | 5/22/2024                  |
| San Bernardino County Service Area 64  | American States Water Company                     | TempCarryover in Lieu of Replaceme | ent 75              | \$472.00  | \$35,400.00               | Alto    | 5/22/2024                  |
| San Bernardino County Service Area 64  | San Bernardino County Service Area 42             | TempCarryover in Lieu of Replaceme | ent 102             | \$500.00  | \$51,000.00               | Alto    | 5/22/2024                  |
| San Bernardino County Service Area 70J | American States Water Company                     | TempCarryover in Lieu of Replaceme | ent 75              | \$472.00  | \$35,400.00               | Alto    | 5/22/2024                  |
|  |   |                                    |                     |           |                           |         |                            |

March 19, 2025 Page 2 of 9

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

| Transferee<br>(Transferred to:)          | Transferor<br>(Transferred from:)              | Type of<br>Transfer                 | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Date<br>Accepted by<br>Watermaster |
|--|--|-------------------------------------|--------------------------------------|------------------------|---------------------------|---------|------------------------------------|
| San Bernardino County Service Area 70J   | San Bernardino County Service Area 42          | TempCarryover in Lieu of Replacemen | it 102                               | \$500.00               | \$51,000.00               | Alto    | 5/22/2024                          |
| Silver Lakes Association                 | Bastianon Revocable Trust                      | TempCarryover in Lieu of Replacemen | t 41                                 | \$509.00               | \$20,869.00               | Alto    | 5/22/2024                          |
| Silver Lakes Association                 | Dolch Living Trust Robert and Judith           | TempCarryover in Lieu of Replacemen | it 49                                | \$509.00               | \$24,941.00               | Alto    | 5/22/2024                          |
| Silver Lakes Association                 | Fischer Revocable Living Trust                 | TempCarryover in Lieu of Replacemen | it 19                                | \$509.00               | \$9,671.00                | Alto    | 5/22/2024                          |
| Silver Lakes Association                 | Paustell, Joan Beinschroth                     | TempCarryover in Lieu of Replacemen | t 78                                 | \$509.00               | \$39,702.00               | Alto    | 5/22/2024                          |
| Silver Lakes Association                 | Phelan Piñon Hills Community Services District | TempCarryover FPA                   | 84                                   | \$509.00               | \$42,756.00               | Alto    | 5/22/2024                          |
| Spring Valley Lake Association           | Brown Family Trust Dated August 11, 1999       | TempCarryover in Lieu of Replacemen | t 22                                 | \$509.00               | \$11,198.00               | Alto    | 5/22/2024                          |
| Thunderbird County Water District        | Beinschroth Family Trust                       | TempCarryover in Lieu of Replacemen | t 29                                 | \$509.00               | \$14,761.00               | Alto    | 5/22/2024                          |
| Victor Valley Community College District | Thompson Living Trust, James A. and Sula B.    | TempCarryover in Lieu of Replacemen | t 226                                | \$509.00               | \$115,034.00              | Alto    | 5/22/2024                          |
| Victorville Water District, ID#1         | Helendale Community Services District          | TempCarryover in Lieu of Replacemen | t 802                                | \$508.50               | \$407,817.00              | Alto    | 5/22/2024                          |
| Victorville Water District, ID#1         | Jess Ranch Water Company                       | TempCarryover in Lieu of Replacemen | at 2,506                             | \$509.00               | \$1,275,554.00            | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Apple Valley, Town Of                          | TempCarryover in Lieu of Replacemen | t 542                                | \$509.00               | \$275,878.00              | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Bruneau, Karen                                 | TempCarryover in Lieu of Replacemen | it 4                                 | \$509.00               | \$2,036.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Bunnell, Dick                                  | TempCarryover in Lieu of Replacemen | it 12                                | \$509.00               | \$6,108.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Dora Land, Inc.                                | TempCarryover in Lieu of Replacemen | it 9                                 | \$509.00               | \$4,581.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Haas, Bryan C. and Hinkle, Mary H.             | TempCarryover in Lieu of Replacemen | t 5                                  | \$509.00               | \$2,545.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Jess Ranch Water Company                       | TempCarryover in Lieu of Replacemen | it 670                               | \$509.00               | \$341,030.00              | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Johnson, Paul - Industrial                     | TempCarryover in Lieu of Replacemen | t 10                                 | \$509.00               | \$5,090.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Lawson, Ernest and Barbara                     | TempCarryover in Lieu of Replacemen | it 6                                 | \$509.00               | \$3,054.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Rim Properties, A General Partnership          | TempCarryover in Lieu of Replacemen | it 5                                 | \$509.00               | \$2,545.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Rue Ranch, Inc.                                | TempCarryover in Lieu of Replacemen | it 16                                | \$509.00               | \$8,144.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2         | Sudmeier, Glenn W.                             | TempCarryover in Lieu of Replacemen | t 10                                 | \$509.00               | \$5,090.00                | Alto    | 5/22/2024                          |

March 19, 2025 Page 3 of 9

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

| Transferee<br>(Transferred to:)  | Transferor<br>(Transferred from:)    | Type of<br>Transfer                 | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Date<br>Accepted by<br>Watermaster |
|----------------------------------|--------------------------------------|-------------------------------------|--------------------------------------|------------------------|---------------------------|---------|------------------------------------|
| Victorville Water District, ID#2 | Thompson Living Trust, R.L. and R.A. | TempCarryover in Lieu of Replacemen | nt 2                                 | \$509.00               | \$1,018.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2 | Thrasher, Gary                       | TempCarryover in Lieu of Replacemen | nt 202                               | \$509.00               | \$102,818.00              | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2 | Wagner Living Trust                  | TempCarryover in Lieu of Replacemen | nt 666                               | \$509.00               | \$338,994.00              | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2 | Wakula Family Trust                  | TempCarryover in Lieu of Replacemen | nt 5                                 | \$509.00               | \$2,545.00                | Alto    | 5/22/2024                          |
| Victorville Water District, ID#2 | West, Jimmie E.                      | TempCarryover in Lieu of Replacemen | nt 5                                 | \$509.00               | \$2,545.00                | Alto    | 5/22/2024                          |
| Hesperia Water District          | Hesperia, City of                    | TempCarryover FPA                   | 120                                  | \$508.50               | \$61,020.00               | Alto    | 7/24/2024                          |
| Hesperia Water District          | Holway Jeffrey R and Patricia Gage   | TempCarryover FPA                   | 5                                    | \$509.00               | \$2,545.00                | Alto    | 9/25/2024                          |
| Hesperia Water District          | Holway, Jeffrey R                    | TempCarryover FPA                   | 6                                    | \$509.00               | \$3,054.00                | Alto    | 9/25/2024                          |
| Hesperia Water District          | Hunt, Connie                         | TempCarryover FPA                   | 36                                   | \$509.00               | \$18,324.00               | Alto    | 9/25/2024                          |
| Hesperia Water District          | Johnson, Ronald                      | TempCarryover FPA                   | 17                                   | \$509.00               | \$8,653.00                | Alto    | 9/25/2024                          |
| Hesperia Water District          | McKinney, Paula                      | TempCarryover FPA                   | 12                                   | \$509.00               | \$6,108.00                | Alto    | 9/25/2024                          |
| Hesperia Water District          | Polich, Donna                        | TempCarryover FPA                   | 36                                   | \$509.00               | \$18,324.00               | Alto    | 9/25/2024                          |
|                                  |                                      | Alto Subtotal (78)                  | 15,225                               |                        | \$7,648,724.00            |         |                                    |

March 19, 2025

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

Amount of

Date

| Transferee (Transferred to:)              | Transferor (Transferred from:)                  | Type of<br>Transfer                | Transfer (Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Accepted by<br>Watermaster |
|---|---|------------------------------------|----------------------|------------------------|---------------------------|---------|----------------------------|
| Archibek, Eric                            | Lake Wainani Owners Association                 | TempCarryover FPA                  | 161                  | \$50.00                | \$8,050.00                | Baja    | 5/22/2024                  |
| Archibek, Eric                            | Lake Wainani Owners Association                 | TempCarryover FPA                  | 239                  | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Archibek, Eric                            | Western Horizon Associates, Inc.                | TempFPA                            | 239                  | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Bubier, Diane Gail                        | Evert Family Trust                              | TempCarryover in Lieu of Replaceme | ent 4                | \$115.00               | \$460.00                  | Baja    | 5/22/2024                  |
| Bubier, Diane Gail                        | New Springs Limited Partnership                 | TempCarryover in Lieu of Replaceme | ent 9                | \$115.00               | \$1,035.00                | Baja    | 5/22/2024                  |
| Calico Lakes Homeowners Association       | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 395                  | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Cheyenne Lake, Inc.                       | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 90                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Cheyenne Lake, Inc.                       | Newberry Springs Recreational Lakes Association | TempFPA                            | 37                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Crystal Lakes Property Owners Association | Calico Lakes Homeowners Association             | TempCarryover in Lieu of Replaceme | ent 260              | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Crystal Lakes Property Owners Association | Newberry Springs Recreational Lakes Association | TempCarryover in Lieu of Replaceme | ent 153              | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Daggett Community Services District       | Harter, Joe and Sue                             | TempCarryover in Lieu of Replaceme | ent 20               | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Daggett Community Services District       | Hiett, Harry L.                                 | TempCarryover in Lieu of Replaceme | ent 6                | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Daggett Community Services District       | Southern California Edison Company              | TempCarryover FPA                  | 103                  | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Daggett Community Services District       | Southern California Edison Company              | TempCarryover in Lieu of Replaceme | ent 20               | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Daggett Community Services District       | Van Dam Family Trust, Glen and Jennifer         | TempCarryover in Lieu of Replaceme | ent 25               | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| De Jong Family Trust                      | Morris Trust, Julia V.                          | TempCarryover FPA                  | 62                   | \$75.00                | \$4,650.00                | Baja    | 5/22/2024                  |
| Gabrych, Eugene                           | Kasner, Robert                                  | TempCarryover in Lieu of Replaceme | ent 78               | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Green Hay Packers LLC                     | Archibek, Eric                                  | TempCarryover in Lieu of Replaceme | ent 29               | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Horton Family Trust                       | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 48                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Horton Family Trust                       | Newberry Springs Recreational Lakes Association | TempFPA                            | 2                    | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
| Irvin, Bertrand W.                        | Jackson, James N. Jr Revocable Living Trust     | TempCarryover FPA                  | 4                    | \$150.00               | \$600.00                  | Baja    | 5/22/2024                  |
| Lake Jodie Property Owners Association    | Newberry Springs Recreational Lakes Association | TempCarryover in Lieu of Replaceme | ent 165              | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                  |
|   |   |                                    |                      |                        |                           |         |                            |

March 19, 2025 Page 5 of 9

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

| Transferee<br>(Transferred to:)                 | Transferor<br>(Transferred from:)               | Type of<br>Transfer                 | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Date<br>Accepted by<br>Watermaster |
|---|---|-------------------------------------|--------------------------------------|------------------------|---------------------------|---------|------------------------------------|
| Lake Jodie Property Owners Association          | O. F. D. L., Inc.                               | TempCarryover in Lieu of Replacemen | nt 86                                | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Lake Wainani Owners Association                 | Archibek, Eric                                  | TempFPA                             | 239                                  | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Martin, Michael D. and Arlene D.                | Jackson, James N. Jr Revocable Living Trust     | TempCarryover FPA                   | 8                                    | \$115.00               | \$920.00                  | Baja    | 5/22/2024                          |
| Martin, Michael D. and Arlene D.                | New Springs Limited Partnership                 | TempCarryover FPA                   | 26                                   | \$115.00               | \$2,990.00                | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Evert Family Trust                              | TempCarryover FPA                   | 1                                    | \$115.00               | \$115.00                  | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Harter, Joe and Sue                             | TempCarryover FPA                   | 400                                  | \$100.00               | \$40,000.00               | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Hong, Paul B. and May                           | TempCarryover FPA                   | 18                                   | \$100.00               | \$1,800.00                | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Hong, Paul B. and May                           | TempFPA                             | 18                                   | \$100.00               | \$1,800.00                | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Lin, Kuan Jung and Chung, Der-Bing              | TempFPA                             | 93                                   | \$115.00               | \$10,695.00               | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Mizrahie, et al.                                | TempCarryover FPA                   | 30                                   | \$115.00               | \$3,450.00                | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | New Springs Limited Partnership                 | TempCarryover FPA                   | 370                                  | \$115.00               | \$42,550.00               | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Uppal, Gagan                                    | TempCarryover FPA                   | 39                                   | \$115.00               | \$4,485.00                | Baja    | 5/22/2024                          |
| Newberry Springs Recreational Lakes Association | Van Dam Family Trust, Glen and Jennifer         | TempCarryover FPA                   | 407                                  | \$115.00               | \$46,805.00               | Baja    | 5/22/2024                          |
| NSSLC, Inc.                                     | Liang, Yuan - I and Tzu - Mei Chen              | TempCarryover FPA                   | 41                                   | \$115.00               | \$4,715.00                | Baja    | 5/22/2024                          |
| NSSLC, Inc.                                     | New Springs Limited Partnership                 | TempCarryover FPA                   | 43                                   | \$115.00               | \$4,945.00                | Baja    | 5/22/2024                          |
| O. F. D. L., Inc.                               | Newberry Springs Recreational Lakes Association | TempCarryover FPA                   | 237                                  | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Quiros, Fransisco J. and Herrmann, Ronald       | New Springs Limited Partnership                 | TempCarryover FPA                   | 28                                   | \$115.00               | \$3,220.00                | Baja    | 5/22/2024                          |
| Sagabean-Barker, Kanoeolokelani L.              | Evert Family Trust                              | TempCarryover in Lieu of Replacemen | nt 5                                 | \$115.00               | \$575.00                  | Baja    | 5/22/2024                          |
| Smith, Denise dba Amerequine Beauty, Inc        | New Springs Limited Partnership                 | TempCarryover in Lieu of Replacemen | nt 2                                 | \$115.00               | \$230.00                  | Baja    | 5/22/2024                          |
| St. Antony Coptic Orthodox Monastery            | Archibek, Eric                                  | TempCarryover FPA                   | 259                                  | \$75.00                | \$19,425.00               | Baja    | 5/22/2024                          |
| St. Antony Coptic Orthodox Monastery            | Archibek, Eric                                  | TempCarryover in Lieu of Replacemen | nt 1                                 | \$75.00                | \$75.00                   | Baja    | 5/22/2024                          |
| Sundown Lakes, Inc.                             | Newberry Springs Recreational Lakes Association | TempFPA                             | 36                                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |

March 19, 2025 Page 6 of 9

## Mojave Basin Area Watermaster

# Temporary Transfers 2023-24 Water Year

| Transferee<br>(Transferred to:)                  | Transferor (Transferred from:)                  | Type of<br>Transfer                | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Date<br>Accepted by<br>Watermaster |
|--|---|------------------------------------|--------------------------------------|------------------------|---------------------------|---------|------------------------------------|
| Sundown Lakes, Inc.                              | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 50                                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Sundown Lakes, Inc.                              | Newberry Springs Recreational Lakes Association | TempCarryover in Lieu of Replaceme | nt 41                                | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Western Horizon Associates, Inc.                 | Archibek, Eric                                  | TempCarryover in Lieu of Replaceme | nt 140                               | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Wet Set, Inc.                                    | Newberry Springs Recreational Lakes Association | TempFPA                            | 37                                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Wet Set, Inc.                                    | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 90                                   | \$0.00                 | \$0.00                    | Baja    | 5/22/2024                          |
| Bartels, Gwendolyn J.                            | Cross, Francis and Beverly                      | Carryover - Included with BAP      | 9                                    |                        |                           | Baja    | 7/24/2024                          |
| De Jong Family Trust                             | Bredelis, Ronald C. and Jean                    | TempCarryover FPA                  | 3                                    | \$75.00                | \$225.00                  | Baja    | 7/24/2024                          |
| Feng, Jinbao                                     | Hu, Minsheng                                    | Carryover - Included with BAP      | 9                                    |                        |                           | Baja    | 7/24/2024                          |
| Hackbarth, Edward E.                             | Hilarides 1998 Revocable Family Trust           | TempCarryover FPA                  | 62                                   |                        |                           | Baja    | 7/24/2024                          |
| Cheyenne Lake, Inc.                              | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 34                                   | \$0.00                 | \$0.00                    | Baja    | 9/25/2024                          |
| Crystal Lakes Property Owners Association        | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 33                                   | \$0.00                 | \$0.00                    | Baja    | 9/25/2024                          |
| De Jong Family Trust                             | Gray, George F. and Betty E.                    | TempCarryover FPA                  | 20                                   | \$75.00                | \$1,500.00                | Baja    | 9/25/2024                          |
| De Jong Family Trust                             | Hass, Pauline L.                                | TempCarryover FPA                  | 7                                    | \$75.00                | \$525.00                  | Baja    | 9/25/2024                          |
| De Jong Family Trust                             | Hyatt, James and Brenda                         | TempCarryover FPA                  | 34                                   | \$75.00                | \$2,550.00                | Baja    | 9/25/2024                          |
| GenOn California South, LP                       | Mojave Water Agency                             | TempFPA                            | 200                                  | \$25.00                | \$5,000.00                | Baja    | 9/25/2024                          |
| Hackbarth, Edward E.                             | Kasner Family Limited Partnership               | TempCarryover FPA                  | 173                                  |                        |                           | Baja    | 9/25/2024                          |
| Hackbarth, Edward E.                             | Vander Dussen Trust, Agnes and Edward           | TempCarryover FPA                  | 331                                  | \$0.00                 | \$0.00                    | Baja    | 9/25/2024                          |
| Lake Jodie Property Owners Association           | Newberry Springs Recreational Lakes Association | TempCarryover FPA                  | 33                                   | \$0.00                 | \$0.00                    | Baja    | 9/25/2024                          |
| Newberry Springs Recreational Lakes Association  | Garg, Om P.                                     | TempCarryover FPA                  | 100                                  | \$115.00               | \$11,500.00               | Baja    | 9/25/2024                          |
| Rossi Family Trust, James Lawrence Rossi and Nac | on Harter, Joe and Sue                          | TempCarryover FPA                  | 100                                  | \$0.00                 | \$0.00                    | Baja    | 9/25/2024                          |
|  |   | Baja Subtotal (64)                 | 6,042                                |                        | \$224,890.00              |         |                                    |

March 19, 2025

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

| Transferee<br>(Transferred to:)       | Transferor<br>(Transferred from:)                | Type of<br>Transfer                | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Date<br>Accepted by<br>Watermaster |
|---------------------------------------|--|------------------------------------|--------------------------------------|------------------------|---------------------------|---------|------------------------------------|
| Barstow Community Developers, LLC     | Harmsen Family Trust                             | TempCarryover in Lieu of Replaceme | ent 1                                | \$100.00               | \$100.00                  | Centro  | 5/22/2024                          |
| Chong, Joan                           | Helendale Community Services District            | TempCarryover in Lieu of Replaceme | ent 12                               | \$60.00                | \$720.00                  | Centro  | 5/22/2024                          |
| Grill, Nicholas P. and Millie D.      | Harmsen Family Trust                             | TempCarryover in Lieu of Replaceme | ent 88                               | \$20.00                | \$1,760.00                | Centro  | 5/22/2024                          |
| Helendale Community Services District | Jones, Joette                                    | Carryover - Included with BAP      | 14                                   |                        |                           | Centro  | 5/22/2024                          |
| Mojave Water Agency                   | Federal National Mortgage Association - Fannie M | Carryover - Included with BAP      | 18                                   | \$0.00                 | \$0.00                    | Centro  | 5/22/2024                          |
| Ruisch Trust, Dale W. and Nellie H.   | Pacific Gas and Electric Company                 | TempCarryover FPA                  | 200                                  | \$1.00                 | \$200.00                  | Centro  | 5/22/2024                          |
| Huerta, Hector                        | Golden State Water Company                       | TempCarryover FPA                  | 800                                  | \$5.00                 | \$4,000.00                | Centro  | 9/25/2024                          |
| Huerta, Hector                        | Golden State Water Company                       | TempCarryover FPA                  | 1,600                                | \$5.00                 | \$8,000.00                | Centro  | 9/25/2024                          |
| Vernola Trust, Pat and Mary Ann       | Huerta, Hector                                   | TempCarryover FPA                  | 1,600                                | \$5.00                 | \$8,000.00                | Centro  | 9/25/2024                          |
|                                       |  | Centro Subtotal (9)                | 4,333                                |                        | \$22,780.00               |         |                                    |
| Ahn Revocable Living Trust            | Ahn, Chun Soo and David                          | TempCarryover in Lieu of Replaceme | ent 44                               | \$0.00                 | \$0.00                    | Este    | 5/22/2024                          |
| Chung, et al.                         | Pak, Kae Soo and Myong Hui Kang                  | TempCarryover in Lieu of Replaceme | ent 18                               | \$60.00                | \$1,080.00                | Este    | 5/22/2024                          |
| Desert Dawn Mutual Water Company      | West End Mutual Water Company                    | TempCarryover in Lieu of Replaceme | ent 10                               | \$60.00                | \$600.00                  | Este    | 5/22/2024                          |
| Jubilee Mutual Water Company          | Mitsubishi Cement Corporation                    | TempCarryover in Lieu of Replaceme | ent 14                               | \$75.00                | \$1,050.00                | Este    | 5/22/2024                          |
| Oasis World Mission                   | Ahn, Chun Soo and David                          | TempCarryover in Lieu of Replaceme | ent 56                               | \$0.00                 | \$0.00                    | Este    | 5/22/2024                          |
| Omya California, Inc.                 | Mitsubishi Cement Corporation                    | TempCarryover in Lieu of Replaceme | ent 17                               | \$75.00                | \$1,275.00                | Este    | 5/22/2024                          |
| Robertson's Ready Mix                 | Mitsubishi Cement Corporation                    | TempCarryover in Lieu of Replaceme | ent 112                              | \$75.00                | \$8,400.00                | Este    | 5/22/2024                          |
| San Bernardino County Service Area 29 | Club View Partners                               | TempCarryover in Lieu of Replaceme | ent 35                               | \$0.00                 | \$0.00                    | Este    | 5/22/2024                          |
| Specialty Minerals, Inc.              | Mitsubishi Cement Corporation                    | TempCarryover in Lieu of Replaceme | ent 27                               | \$75.00                | \$2,025.00                | Este    | 5/22/2024                          |
|                                       |  | Este Subtotal (9)                  | 333                                  |                        | \$14,430.00               |         |                                    |

March 19, 2025 Page 8 of 9

## Mojave Basin Area Watermaster

#### **Temporary Transfers 2023-24 Water Year**

| Transferee (Transferred to:) | Transferor (Transferred from:) | Type of Transfer   | Amount of<br>Transfer<br>(Acre-feet) | Price per<br>Acre-foot | Total Cost of<br>Transfer | Subarea | Accepted by Watermaster |
|------------------------------|--------------------------------|--------------------|--------------------------------------|------------------------|---------------------------|---------|-------------------------|
|                              |                                | <b>Total</b> (160) | 25,933                               |                        | \$7,910,824.00            |         |                         |

March 19, 2025 Page 9 of 9